
32B Killip Homework 8 Due March 9

(1) We build a circular cone from typical office paper (80 grams per
square meter). The base has radius 100mm and the height is
100mm.
(a) What is the mass of the cone?
(b) Find the center of mass of the cone.
(c) What is the moment of inertia for rotations about the axis
of the cone.

(2) Section 18.1: 10, 12, 20, 24 and 32.

(3) What is the total flux of the vector field
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]
outward through the circle x2 + y2 = 1. Compute twice: once
as a line integral and once via Green’s theorem.
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